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L. How many electrons does a tripple covalent bond involve? =i 437 2 A v RIS O A
only theze o3~ (D) tour s (C) six &% (B) eight #7 (A
The bond formed cug 1o complele transter of electron ubt;u‘”{d’ulf"?’ T (333 P TR (;11 Lz ke -0
e one atom to another atom is called i T - [P0 = ;L &
ionic bond . ki AT (B) covalent bond ¥l 2 (A
metallic bond &y A (D) dative covalent bond kb= Wnlis (0
Vanour pressure of water in mmHg at 20°C s —o i mmHg Hy ¥ d ”’0 § S
14,4 (0) 553 (C) 17.5 (B) 458 (A)
© . Molarity s the number of moles of solute dissolved i - s Fat g2 sl b B L sl v’;;'r -3
150 g of salvent !»a‘fmo Lo (B) 1 Kg of solution "!/Jigiif. A
1 dmd of solution 1 dm3 oo (D) 4 dm?3 of solvent 1 dm? Ioasndr (G
5. Which percentage shows the volume in ¢ ‘ofa cm’ 'J/(fb Loy \3:; e oY
solute dissolved in 100 g ot the solution? -4 3/,,13; Sin St /-«n,fdoo LSl A
W {:" (D) U/,f(’) i (C) % ,‘1\_ (B) Y, pl {f\)
0. The formula of rustis - By— gl ¥ f -1
Fe(OH), ) Fe(OH),. 01,0 (©) Feth (B) Fe,0,.nH.0 (A
11 . Which of the following is weak electrolyte? s &m}«?r /,-/’L?f.:, St -1
NaOll (D) H,S0, © Ca(OH), (B) Nac,l’.. (A)
1. Which one of the following non-metal is lustrous? /w oL Wi S Sila 12
carbon ¢ (D) iodine /7 (C) phosphorus J#b (B) sulphur )f (A)




CHEMISTRY Paper:] (FUs' 1 2, JFGEE) 121 1.4 A
Time: 1:45 Hours (Group:1) Subjective - Jlﬁl (..r,!/(ll‘n;) 1045 0

Marks: 48 Wj_é (2]

Note: Section 1 is compulsory. Attempt any TWO (2)

questions tfrom Section 1L

% - Write short answers to any FIVE (B) questions.

Define empirical formula with an example.

i - What is meant by chemical properties? Give an example.

45 . Define atomic number and mass number.

RAVAES

v - Define electronic configuration.

i - Define shielding effect.

<ii - What is meant by "blocks” in modern periodic table?
vili - What is effective nuclear charge?
o

2 - Write short answers to any FIVE (8) questions.
.. Why does a covalent bond become polar?
- Define coordinate covalent bond.

Define intermolecular force.

What is meant by evaporation and condensation?

Why does

vi-  Define molarity and write down its formula.

- Define solubility.
sii. Differentiate between dilute and concentrated solution.
4 - Write short answers to any FIVE (8) questions.

Define reducing agent.
Define strong electrolytes with ane example.
Find oul the oxidation number of chlorine in KCLO,,

when oxidation number of K=+1 and O=-2

. Write down the name of two types of electrochemical cells.

v~ Write down any four properties of silver.
iHow does chlorine react with hydrogen?

Write down two chemical properties of non-metals.

in diffused sun tight.

(21 0m

Write down the observations of Rutherford's experiment.

vapour pressure become higher at high temperature?

Write down reaction of methane (CHJ)\Nith chlorine (C,Q._,_)
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(2 Write down five differences between Rutherford's

atormic theory and Bohr's atomic theory.

(1) Write down any four differences between
compeund and mixture.

4y Dafine covaient bond. Explain its types with
al least one example of each type.

y What is

AV

vapour pressure? Qn which faclors

vapour presstre does depend upon?

y What is ele

raplating? Explain alectroplating
of chromium,

, Dxplain pareentage somposition of solutions
fy four cifferent ways.
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The solution which is formed by dissolving a

substance in water is called

unsaturated solution ¢ £l (B)

&
% L oG
supersaturated solution € o (D)

A good exampie of hamogeneous mixture is

5 &

ice cream (71 (D) wood J# (C)

Formation of water Trom hydrogen and oxygen is
neutralization ¢~ U (B)
redox reaction uf{,d/ J'/"Jf:/ D)
Electron affinity of flourine is
=325 Kd/imole (D) -330 Kd/mole (C)
{dentify which pair has polar covalent bond?
HCE & LO @ C.H, & H.O ©
folarity is the number of moles of solute dissolved in
100 g of solvent ,”’/‘:JTOO Lok e (B)

1 dm3 of solution

1dm? £ o (D)

The plements of group Tand group Il are calied
f-blogk it -f (D) d-block t-d (©)

Constant tactor in Boyle's law is

temperature 7~' (C)

il

i) N
’ ) among these s

Helium n
; : s o
alpha particle ! /.&L;J! (B)
neutral particle Jf’;gd/'y,i (D)
Which of the following non-metal is lustrous?
sulphur i

hydrogen ¢/ 0 (D)

Triple covalent bond does involve how many electrons?

3 (D) 4 ()
The most common example of corrosion is
rusting of iron £ s (B)

rusting of tin o &5 S/
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1. Define substance and mixture. -
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. Write down chamicat formule, of sugar ana silicon dioxide. S ’Nwa o ¥ lr‘ ‘Q" U’J"ff ~ i

. - — . ; ; ; Py %0 o - .
1. Define aionic mass unil, Writs down iis valug in grams. B S ’ff wep i ER el Al s o Lb i

- 27y
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v . Define alomic radius. RO o \,} L GF =y
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- Define covalent bhond.
G. Wnat is relationship between e tronegativity and polarity? t.L L)”‘" ‘.;f AP ;’ e 5*“- =5 i
L. what s double covatent boad? Give an exampie. RZINT e \.’:2:- ST NI SR
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F o~ () Differentiate between Buthariord atomic theory {3} P P S 4 ol G TR Shas (LD - # E
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(b) What is vapour pressurs? On wiich factors (4) g J,u o A § A4 0 e VA e )

vapour prassure doas gepand Upon?
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i = () Describe electroplating of chromni. {5} ..duub:...)«f:‘w ’.:"dr‘uuf (el i
(1) Calculate the mofarity of a solution which is prepared by {4} 400 em’ u" c._v (’:L’“ Of’f L,L/ I:L C’» (',_',,') E
dissolving 28.4 ¢ of Na,S0, in 400 e of solution Y gf VU Na,80, rl_f 28.4 4 .
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